40&«1}/\ QUiZ 4

Show all your work. No credit is given without reasonable supporting work. There are two
sides to this quiz.

1. (8§1.1 #77) Consider the points (z,y) that are the same distance from the z-axis as to
the y-axis.
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2. [1] (§4.1 #12) Draw 5%rrad.
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3. [1] (WebHW16 #20) Let # be an angle such that tan(d) < 0 and cos(d) < 0. Which
. 5 RS 1 I
quadrant is # in?
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4. [2] (Circle Worksheet) Find the point(s) on the unit circle whose first coordinate is 5

Indicate how you found your answers.
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. [3] (WebHW16 #23) leen that sin(¢) = 2 and tan(¢) > 0, find tan(¢) exactly.
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